6.3.1. 3YNS Deedoedny LBpeBnvdy Mmeses ared.

Deedoed

(D4p,g+r

4p*(q+r)=4p*gq+4p*r= 4pq+4pr

(i)ab,(a-b)

ab*(a-b)=ab*a-ab*b= a’b-ab?

(iii)a+b,7a’b?

7a’b**(a+b)= 7a’b**a+7a’b**b=7a’b*+7a°b>

(iv)a®-9,4a

4a(a®-9)=4a*a’-4a*9= 4a3-36a

(VM)pag+gr+rp,0

0*(pgq+qr+rp)=0*pq+0*qr+0*rp=0+0+0

(iii), (iv) D) (v) 0O Dexteedriv SNV, T B FB rHET.(SOIBrdead Aabab)

6.3.2. amec—.-is DPITIRDD.

el Spce Deedeed

OTBIe Deedoed

rimoag

0 a

b+c+d

a(b+c+d)=ab+ac+ad

(i) X+y-5

5xy

5xy (X+Y-5)=5Xy*x+5xy*y+5xy*(-5)= 5x°y+5xy*-25xy

Giii)

6p*-7p+5

p(6p°-7p+5 )=p*6p°-p*(-7p)+p*5= 6p>-7p°+5p

p
(iv) | 4p°q®

p*-q°

4p°q*(p*=q7)= 4p°q *p°-4p°q°*-q’=4p”q*-4p°q”

() a+b+c

abc

abc(a+b+c)=abc*a+abc*b+abc*c= a’bc+ab’c+abc?

(if) @) (iv) BO Deeoedns FNVRY BT T S8 MBI, (GOITFIead Aob)




6.3.3. meser) s0BDHBAD.
RAR: x = x*;p=p*;q=q*

0. rbmoag

() (@)*(2a*)*(4a*°) | =(1*2*4)*a*°(a ORMRD 2+22+26=50 )

(ii)%xy, —%xzy2 =( )*xy*x°y? ==’y (X oRRD 1+2=3 F0 DR Yy oD 1+2=3 I0)
= )* pa®* p*ag=4p*q*(p aRBD 1+3=4 Ju DR g SWID 3+1=4 )

. 10 5 6 g
") -— , —
(i) 3 Pa% £ P

(iv) x*xZ*x3*x* =(1*1*1*1)x%=x"° (x oRBD 1+2+3+4=10 IJ0)

6.3.4. (2) 3x(4 —5)+3 VeadeedohI JBogedd. X 11 Y B3 Hd ISNErt wET 3¢ BoDHBAO.

R |
(I)X—3(II)X—E

3x*(4x-5)+3= 3x*4x+3x*(-5)+3=12x*-15x+3
Xx=3 e8mon 12x°-15x+3=12*3*3-15*3+3= 72-45+3=114
1 1.1 1 1 1 3

X== e3@on 12x°-15X+3=12* = * - _15*= +3= 3-7-+3=-1-=->
2 2 2 2 2 2 2

6.3.4. (b) a (82 + a + 1) + 5. Dex3edodR) Fogedd DR a rf 3urf BRBWT SRV T3 233 BoHLBMD.
(i) a= 0 (i) a= 1 (iii) a=—1.

a(a’+a+1)+5=a*a’+a*a+a*1+5=a’+a’+a+5
a=0 eswon} a’+a’+a+5= 0°+0%+0+5=0+0+0+5=5

a=1 esoon a’+a’+a+5= 1°+1%2+1+5=1+1+1+5=8

a=-1 esoon a°+a’+a+5= (-1)3+(-1)?+(-1)+5=-1+1-1+5=4




6.3.5.

a) 8e83:p(p-q)+a(g-r)+r(r-p) =p*-pg+g°-qr+ri-rp= p>+g*+r’—pg-qr-rp

b) BrB&:2X(Z-X-Y)+2Y(Z-y-X)= 2XZ-2X*-2Xy+2Y7-2y°-2yX= 2XZ-2X*-4Xy+2yz-2y?

c) 3¥: 41(10n-3m+21)-{3I(I-4m+5n)}= 40In-12Im+8I*-{31>-12Im+15In}
:'—12Im+8I2-3I2+12Im—-
=25In+0+5I°= 5I°+25In

d) 3¥dwd:4c(-a+b+c)-{3a(a+b+c)-2b(a-b+c)}= -4ac+4bc+4c?-{3a’+3ab+3ac- 2ab+2b*-2bc}

=.+4bc+4cz-3a2—3ab-+2ab-2b2+2bc

+6bc+4c?-3a%-ab+2b?

=-7ac+6bc+4c?-3a%-ab-2b?






